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Attempt any five questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)
Draw neat sketch where ever required.

Explain the Need, Scope and Importance of Estimating.
Define:-(1) Prime Cost, (2) Factory Cost, (3) Production Cost, (4)
Market Value, (5) Book Value, (6) Scrap Value, (7) Salvage Value.

Write and explain cost elements of Gas welding.
One company have 100 product in one batch and selling overhead
cost is 40% of factory cost, if factory want to 20 % of profit so Find
the selling price per product by use following data.
Direct material cost = Rs.500, Direct labour cost = Rs.700, Factory
overheads = Rs.800.

OR
Two 4 m long plate is welded by manually flux shielded metal arc
welding process. Find total welding cost by use following data.
Welding speed-10 m/h, Operating fector-60 %, Labour charge-
Rs.15/h, Use of electrodes-0.4 kg/meter welding length, Electrodes
price-Rs.80/kg, Arc voltege-22V, Arc Courent-2001, Transformer
capacity-60%, Power charge-Rs.5/KW.

Define following term according to machine shop,
(1) Set up time, (2) Handling time, (3) Actual machining time, (4)
Tear down time, (5) Miscellaneous allowances time, (6)
Organisational time, (7) Service time.
Manufacturing 500 square head bolt in one round bar have 2 cm
diameter, find length of round bar. Total loss is 20%,
Bolt Dimension:- Square head: 2.5cm side and 1 cm width.

Shank : 2 cm diameter and 3 cm length.

OR

Define the pattern and explain different pattern allowance.

One shaft have 20 cm length and its diameter is reduced from 4.2

cm to 4 cm by grinding process, find time of grinding process by use
following data.
Wheel face width = 2 cm, Cutting speed = 16.5 m/min, Depth of
cut=0.25 mm.

What is break even chart ? Write its importance , constructing
procedure and limitation.
Write name of different method of calculating depreciation and
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explain any one.
OR
Write modern tools and techniques to reduce cost.
What is forging loss? Explain different losses of forging process.

Define "Budget" & Budgetary control and Write type of budget and
explain any one.
Define any seven type of contract.

OR
Define "Profit" and explain methods of increasing profit with brief
limitation.
Write brief Description of benefit of cost analysis.
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